M 6K/ \ BT AT B K - SR &1 B0 ) A a2 Rl S (KA
[RPASEHE] 420 20 ORGNA EAEH ) & bl L TLUT O &35 0 37,

FA ] - FHELA LR TB) - - - FHE@VER  [C) cFHELT T—1 - - - EERL
K 1. WEITBOHEE (Bid%k - 8 1HH)
No. [HHRE 51 HUkRLTE B IR
R3 R4 R5 R6 R7
1 -1 | DT AME AT #1235 <R 72 AM B R0 B B
2 1-2 B ORECFEBITIE U 5RO AL L B
3 1-3  [FF AR DIE ] B
4 1-4  |[EEEE LR E OB B
5 1-5  |MRERHI ORI RE - ZhEA R ER B
6 1-6 (7—2 « 747 - NT o 2DHEHE B
7 1-7 |V E— hU— T BREE O C
8 1-8 | A& —HlEDEA B
KM 2. Fefe ATRE 72 M BUE S OH#EdE (B - 1 73HH)
No. [HHRE 51 HUkRLTE B IR
R3 R4 R5 R6 R7
Firifor (P B8 — -
o ER e “TH| C
SR T C
9 2-1  |AERFICRIT BRSO HEE [EEN C
I\ R B B C
kakGE A
TkE B
10| 2-2 [WEEFEATOMmE B
11| 223 [Ty b=xYxr ot B
12| 2-4 | DUHMTHREER S A7 A CESSBREICEE L HEFEOHE | C
13 | 2-5 |RFIAMPEDIEH B
14| 2-6 |[FEUREOHEH B
AR A
15 | 27 |WEE - FES oM ORI LRI TR | A
iR S AR C
Fa Rt A
16 | 2-8 |fEATEF - FEBOBEIENL C
K 3. BRAYLITEOR S OHEtE (BE% - 1 45HH)
No. [HHRE 51 HUkRLTE B IR
R3 R4 R5 R6 R7
P W1 R PR IR BBk B
SR LR R} B
17 3-1 |Fxyra L ARFOEA ki - FAKiEEHE| B
LL 3 LS DR - i B
BafRRR -
18 | 3-2 |ITEFHhiDfliFEk C
19 | 3-3 | R_X—s3—L 2 {hDHEHE I%@ﬁ-%%%# b
~N— =1 22| B
20 | 3-4 |MEREHIEZIHRDLENFEBO b C
21| 3-5 [~=AF o —HIEDEH C
22| 36 |GISOEHEA C
23 | 37 |EFHEIBEKEOHLE B
24 | 3-8 |RBN&EHOEHEA B
25| 3-9 |Al « RPAZZIGHLIZEFORENL B
26 | 3-10 [MRE OWBO £ H -3 < Y HEEART] OB fif B




M586.%/\ i@ 4T B ek 2 KM - SR &1 1E ) ERAl 2 A (BR A1)

(FEAGAAE] 45 2 & ONGERNE BIERE) & i L TUUT o &3 0 5,

TA CEHELL LR TB) - BB Y ER [CY - FHECLTY T—y - - - HEEARL
%gggﬁ e BHUEH NSRBI £ 7203 5T H) _ Mmﬁi&;% _
1-3  [«5EF A O7EF B
14 |wEB A L BRSO L B
15 |*IREREI ORI - Dhasa07 i B
1-7 %V E— FU— 7 BREEOREE C
26 A RHEE DR B
2-8 |+l - FAEIO@IELL C
cmigEm | 31 vt v oo CAREOHEA (Raf - J0%) B
(14) 3-2  |[MTEFEROMEH(L c
3-3 [l R— L 2 fLOHEEE (N =L AE5E) B
3-5 |k~ A F L N—HIEDIEH C
3-6 *G 1S 0)’:‘5}7\ C
37 |« BIREOHEE B
3-8 |*ECMIE I OEA B
3-9 |*A 1 - RPASZEIEH LB 0FR B
-2 |l sEAT O P B
] 25 | RIRIEDTE B
() 2-8  [#E KL - FRCEI O IE(L C
34 |*Mi i B4R B R R O — it C
Ty PSRV 98 |srvy kv kYA L FOfftE B
A | HEHER .
(2) 2-5 < ARFIHM PEOTE B
wER emms BOHUEH (G B £ 722 B ) _ R4mﬁi&;R6 _
11| Wi M BRRIEA 8 (I < B0 78 b 5 R B B
12 |BE ORI T da G 0 R L B
13 |« &P O A B
o 14 |wEB AL BRSO B
*ﬁ@ﬁﬁ 15 |[“IREIRHI OB - B 70E B
16 [T —27 « 47 « T 2OHEHE B
1-7 %V E— FU— 7 BREEOREE C
1-8 | A > & —HlEEDE A B
3-3  |x_— R— L b DHEE CrEEHE « BT B
@Eggf“ e BOUTE R (RO B £ 7 28 5 TE H) _ R4mﬁi&;R6 _
FFHHER (1) -1 [xF v v oo LARFOEA (I ERmE) B
ERESR (1) -1 ¥ v o ARFEOEA (IR RO B
FRCHN w5 BURUEE R B % 725 B T ) _ R4mﬁi&;RG _
wER (1) 27 |xb L - TACEYE DIk O RE (B ED A
AEREE wmwr B H (GBI £ 722 5 ) _ R4mﬁi&;R6 _
BEEU A 2| 24 [ DEBIMRESEY 27 4 [CHESBREICEE L WEREO#E| C
(2 07 | AL - FHOEYS DT R O3t (U RALER T KR A




ME6R/\ M TR S A - EHEEE

(FEAGAAE] 45 2 & ONGERNE BIERE) & i L TUUT o &3 0 5,

1ERAEE ACRE (BRAN)

N - EHELL B3R (B - EEE Y ER [C) CRFELLF M) CHERER L
T T - e I e
e s BRI H (VENIEROR B £ - A BT H) T T T T
ﬁﬁ%ﬁﬁ@% 3-10 |siTEE ORI E H5< 0 HEE R E OB B
FE D I . T YA AR
an fEmES TR H (SR B £ /-3 5 8 H) T T e TR T
BRIVKR | o5 loRBImMEOIER B
TAER (1) | 21 |[FAma Bl 5w ik OREE (| AGh) B
MHEER | oo |t - FHAEOIATRORIC (55 LU c
e » A —— B @
Gmmy " e TR H (ISR B £ /-3 5 8 H) T T e [ e T o
01 |RABEAEIC BT DR B OEE i B ) —
—_— 01 |PABAEICHT HRESEONE (B, B - — 1 H) c
Eugﬁﬁ 01 |PABAEICHT DR G ONE (ol i) C
01 |PAEAEICBT D REGEORE (958 LE5) C
-1 |PABAECHT HREEEONE () C
A g o . I TR
O TR H (ISR B £ /-3 58 H) T T e e T o
i (o) 1 A BA IS DR R OREE (1 KH) A
e -1 [xF e v Lo LARFOEA OKIE © FAGEES) B
ERHED o s . P TR
SR TR H (ISR B £ /-3 5 8 H) T T e e T o
R (1) 07 |#BE B - FACEFE ORI DRIE o £ 7r) A
e % H4 A il
R3 R4 R5 R6 R7
1-6 [« T —27 « 47 « RT U 2DOHEME B
2-3 [¥7 kv b YA FoHE (BRI B
94 |* WITEBIE S A7 1] (S < BBCAUE L FEREOIEE| C
96 |oHEHEE O B
28 |WEr - TAFOE E(L (B C
3-1 [#Fr vl ARFOEA (BIRE) —
LA 3-2 *??EZ?%’ECDF’“ #1k C
(14) 34 |WhiaR S EERE AR 6 B R DAt (& M) C
3-5 |xvw A F U —HIEOER (BI%EHE) c
3-6 |*G 1 SoEA (BIfRHR) c
37 |wE T B IGAOHEE (%) B
3-8 |[*EmE OB (M%) B
3-9 |[*A 1 - RPAZZFEM L5050t (B B
3-10 |[*TE & OWBIo = H5< 0 HEEREORER (W% B
A 4 0 0 0 0
B 34 0 0 0 0
C 20 0 0 0 0
— 2 0 0 0 0
JNaF 60 0 0 0 0




